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Tao works in a ga_rden Sh‘{p' PE Lesson Thgre are b‘Iack, grey and A standard six sided fair dice is rolled. What is the chance of
The table shows information 100m Sprint Frequency white b‘a‘IIs in a bag. On t‘he rolling the following numbers? Connect your answers with a line.
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g a.) Estimate the median A number ‘ Likely
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. . . b) Tao is placing an order. \ b) Estimate the
g Jacob asks his class what their shoe sizes ) ' .p & 1 mean time.
o  areand notes them down in a table. He is going to order 7 of the >
e gnomes in each size. Is =
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4 4 a) Calculate the median shoe size. 1 2 '8
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c 11 1 1 1 Bag A conta'ms 15 Maltesers and 30 Ha'rlbo. A o
- Bag B contains 9 Maltesers and 12 Haribo. B
6 12 0 PrObablhty and 2 A sweet is chosen at random from each bag.
b) Calculate the mean shoe size. Averages Deontai says, “I’'m more likely to choose a Malteser sweet from bag A
7 3 Revision than B because there are more Maltesers in bag A than bag B.
Is she correct? Show all of your working out.
Compare the average goals scored of the two football teams. Poppy, Aleena and Erin decide to test the theory that toast always lands butter side
Which team is statistically the better football team? up, when only one side is buttered. They test this with several pieces of toast and
. count how many times it lands butter side up. | no of pieces of No. landing -
? g-ioalscl Hea;ts Headways Hllla:ee Hurdlers i e The table shows the results. toast dropped ‘butter side up’ =
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o 2 8 14 ucy asks her friends how Miss B ket a il . - . o
o 3 ) 0 many pets they have. j flzh Erin’s results give the bgst estimate
3 Her results are shown record orthe of the probability of a piece of toast
Q — in the bar chart number of landing ‘butter side up’. Explain why.
0 ’ N the bar chart. Teesside flyers times{ @bsences for each
o . . student in her class
) . \ Find the median number of pets. 3 hours 12 mins, for one term.

2 hours 52 mins,
3 hours 36 mins Here are her results.

Glasgow Getaways: 0,2,53,0,1,1,0,2,0
3 hours 9 mins, 3 hours 15 mins,

3 hours 21 mins a) Write down the mode.
§ 4 There are 16 girls and 12 boys in a maths class.
e . i . b) Work out the mean. 3 of the eirls and 2 of the b i ) |
> Two running clubs are competing against 5 of the girls and > of the boys arrive on time to lesson.
L2 each other in the great north run. The The teacher selects a child at random from those who arrive
team with the fastest average wins. c) Calculate the range of the absences. late to hand out the books.
0 Compare the averages to decide the Calculate the probability that child is a girl.
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